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MISSION SSC-2024 &= ()

A man travels first 50 km at 25 kmph, next 40 km at 20 kmph and then
90 km at 15 kmph. His average speed for the whole journey (in kmph)
IS

U SMTeHT Ut 50 fobdT 25 foodt ufd °e ot 7ifd 9, 3ATett 40 fot
&1 g 20 fopdt Ufd b &1 7fa I 3R R 90 foet @1 g3 15 Tt
g g B Tid W 79 Bl & | T I&T o e S9HT 3 1
fpdtufa e &) g

(a) 25 (b) 20 (c) 18 (d) 40




MISSION SSC -2024 I = -~

A train running at 7 /11 of its normal speed reached a
place in 22 hours. How much time could be saved if
the traln would have run at its normal s Tr[%eed?

Ueh ¢ &rq=ﬂH A= T 7/11 1 T Il g%

22 T T U ”IF |R qgadl o | G S Ut
{-IIJ-IIfq Wﬁf@fﬂﬂ?ﬁ?ﬁ [T THT 99T o 9hd]
YT?

(a) 14 hours (b) 7 hours (c) 8 hours (d) 16 hours




MISSION SSC -2024 IT¥- =9 -

If a person travels 10(1/ 5) km in 3 hours, then the

distance covered by him in 5 hours will be
gfe Pis fad 3 ¢ H 10(1/5) oAt St amT Hdl g, @
5 dc T IYh GRT g B! 7T g gl

(@) 18 km (b) 17 km (c) 16 km (d) 15 km




MISSION SSC -2024 I¥ =~

Excluding stoppages, the speed of a train is 48 km/hr and
Including stoppages it is 40 km/hr. What Is the stoppages time of

the train gin \minutes) per hour?

U D1 BISHY, ¢ 1 TIfq 48 fohel/HeT B 3R Wi Ffed
gg 40 fhHi/Aer 81 <1 o1 Tius ey (fiHel #) gl ger 3

87

(a) 12 (b) 14 (c) 20 (d) 10




MISSION SSC -2024 IT¥ = -~

A man travels first 50 km at 25 kmph, next 40 km at 20 kmph anc then
90 km at 15 kmph. His average speed for the whole journey (in kmph)
Is Shiela’s house is 10 km away from the school. She takes 30 minutes
to reach the school by bus. If Ram travels from his house at the same
speed as that of Shiela and takes only 12 minutes to reach the school,
the distance between Ram’s house and his school (in Km) is

THh TGH! ggd 50 fhaT 25 fopdt ufd € &t 1fd 1, 3iTel 40 fopt
CARIEL 20%£ﬁqﬁra%ﬁvﬁr@raﬁ?ﬁﬁ9o%ﬁﬂﬁ@15%£ﬁ '
gl T P T o 09 BT ¢ | T T & o8 ST 3RId i
@ﬁﬁqﬁr‘aﬁﬁ)aﬂwmlueqm@rlo%ﬁﬂ | 3 99 Y WHd
Uge o 30 fide o1d 81 afe 317 810 =R I et & T

I HRAT § 3R Tpd Uga H dhad 12 fFe ddl 8, ARE D ;W
3R IG5 THd P T (e o %

(A)2 (B)4 (C)5 (D)6




MISSION SSC -2024 I = -~

Anita and Veena are running In opposite direction.
Speed of Anita and Veena is 8 km/hr and 10 km/hr
respectively. Find out distance between them after 2.5
hours

3T SR T faeRiet fazm & <l <gl €1 3Hla
3R 11 1 T SpHe: § fobHl/eier ok 10 febel/eier |
g1 2.5 9¢ & 9I¢ 3P a1 BT g3l 1 P
(A)30km (B) 36 km (C) 40 km (D) 45 km




MISSION SSC -2024 I¥ =~

A bus Is moving with a speed of 30 km/hr ahead of a car with
a speed of 50 km/hr. How many kilometers apart are they Iif it
takes 15 minutes for the car to catch up with the bus?

P &9 30 fohHi/gc] B 7Tid W Th HR I 50 fbdi/der i
Wﬁrﬁ&nﬁaﬁﬁ%lqﬁcomcolw d% Uga- # 15 e
T g d d fobaH fhamiel R 87

(A)3km (B)5km (C)7.5km (D)12.5km




MISSION SSC -2024 I¥ =~

A car can finish a certain journey in 10 hours at a speed of
48 km/hr. In order to cover the same distance in 8 hours,

the speed of the car must be mcreased by

U B 48 fhHl/der DI T F 10 8 H T {32 e
X B bl g | THH G Bl 8 ucfrdq H- & fog
DR DI Tfd TG gRIT

(A) 6 km/nr (B) 12 km/hr (C) 15 km/hr (D) 18 km/hr




MISSION SSC -2024 I = -~

Excluding stoppages, the speed of a bus Is 54 kmph and
Including stoppages, it is 45 kmph. For how many minutes
does the bus to stop per hour?

WCIUST D] BISHR, Ueh o 1 7fd 54 fob i} ufd ©id B 3R
0w Ffed, Tg 45 fe et ufa ©e 31 99 &l ufq 9 foaq
Pe 3BT 7
(A)7 (B)8 (C)10 (D) 12




MISSION SSC -2024 I¥ =~

A thief running at 8 km/hr is chased by a policeman whose
speed iIs 10 km/hr. If the thief is 100 metres ahead of the
policeman, then the time required for the policeman to catch

the thief will be
] Uh Wﬁ

8 fohHl/deT &l TTfd Q HRT I8 T IR
g1 Ui feba Siran 8 forgept et 10 fbHiEier g1 afd =R -

\)

gfereHI & 100 HieR 3 % a"tﬁmo H! IR P

U S+ ¥ floda1 gag R
(A) 1 minutes (B) 2 minutes (C) 3 minutes (D) 4 minutes




MISSION SSC -2024 I = -~

Train A leaves Ludhiana for Delhi at 11 a.m, running at the speed of
60 km/hr. Train B leaves Ludhiana for Delhi by the same route at 2

p.m. on the same day, running at the speed of 72 km/hr. At what time
WI|| the two trains meet each other’)

T AYEE 11 S G et & fag 6o fart/eier ot 1fa |
%Icaa?qmsazwﬂﬂﬂﬁ@r@fﬁﬂwﬁldw & ferg
| gl g1 341 fe, 72 fopei/eier &t ifa | S gl I
W%HTWWW SR Y et
(A) 2 a.m. on the next day (B) 5 a.m. on the next day
(C) 5 p.m. onthe nextday (D) none of these




MISSION SSC -2024 I = -~

The distance between two cities A and B Is 330 km. A train
starts from A at 8 a.m. and travels towards B at 60 km/hr.
Another train starts from B at 9 a.m. and travels towards A at
75 km/hr. At What time do they meet?
Eﬁ%ﬁAaﬁv B & o 1 ot 330 Tt €1 T ¢ Yo

gIe & 3 60 forefl/eeT &1 1f o B ) 3?
Scho g1 TH 3 C-I 98 9 9] B@r%@?ﬁ% 3R 75
ﬁo‘ﬁ/ﬁﬂc"fﬂiﬁ@mc Tdd o | 9 fog gAY e g2
(1) 10am (2)10:30am (3)11lam (4) 11: 30 am

8




MISSION SSC -2024 I¥ =~

If a man walks from his house to office at 6 km/hr , I
IS late by half an hour. However, if he walks at 8
km/hr , he is late by 10 minutes only. What is the
dlstance of hIS office from his house.

gie ®is Afad U4 TR I HIATAT db 6 [hHI/beT
"rTri%r@raaaT% dl 98 318 U & &3 Y Ugadl 5 |
STl ’Cﬂ%a‘s’SFTﬂ/EIETa"UT%@rW didg
$Id 10 e R A AT R | IYP BT S ITH
W@I@F g7

A) 8 km B) 12 km C) 14 km D) 18 km




MISSION SSC -2024 I¥ =~

Two points P and Q are separated from a distance of 200 km.
A car leaves from P to Q at the same time another car leaves
from Q to P. The two car meet at the end of 8 hours. If the car
travelling from P to Q travels 20km/hr. than the other. Find
the speed of the faster car?

&l fig P 3R Q 200 I BT G AT BTN G| Th HRP |
@chﬁaf?\m?ﬁ%B;ﬁwgﬂﬁ ‘RQ@chﬁshwr?ﬁ
gl i BN 8 Ue & 3id H a1 afe P T Q I ImM
R dlell R 20 fpl/Her & AT A 81§ HaraT
(‘I\TIC QC ‘I(‘I?I(‘IC’)I\SIk?

A) 15.25 B) 20.22 C) 22.5 D) 18.9




MISSION SSC -2024 I =9 -

To reach from point A to point B at 4pm , Anuja will
have to travel at an average speed of 18kmph . She will
reach the point B at 3pm If she travels at an average
speed of 24kmph . What will be the average speed of
Anuja to reach point B at 2pm ?

QMM 4 I fdig A Y foig B dh UgdH o et 3ol ol
18 foreit ufd °¢ &1 3iag 7ifd T g &A1 gt afe
ag 24 fopHl Ul € &1 3 1fd ¥ I el 8 dl 98
3WRTg 3 9o fdig B TR Ugd ST | GIUeR 2 9ol faig B
do% g+ & foTd 3ol &1 3{d i o1 ghi?

A) 55kmph B) 36kmph C) 45kmph D) 30kmph




MISSION SSC -2024 I¥ =~

Two person A & B with speed of 30kmph and
40kmph comes towards each other. When they
meet it Is find that faster one cover 30km more
than slower one, find the distance cover by train?

aﬁwﬁmaﬁ?mofﬁrqﬁr‘a%ﬁuoﬁ‘ﬁﬁ
gfd g I Md U Th QA ST R I 5| 9§ d
ﬁra%aé;dlﬁwd %ﬁfoég_zﬁﬁ&%ﬁﬁéﬁr%ﬂtﬂ
®I AT H 30 D)
Bl 2, dl o gRI 7 cﬁﬁgﬁmc%
A) 210km B) 240km C) 280km D) 300km

OI




MISSION SSC -2024 IT¥ = -~

There are two trains move towards each other
50kmph and 60kmph respectively. When they
meet It IS noted that faster train covers 50km more
than the other. Find the total distance travelled by
them?

E?rc:ﬂ SHH: sof‘ﬁﬁqﬁﬁ%sﬁ%of‘ﬁﬂqﬁr
g¢ 1 Id U TP IR Bl AR Idd g | oI F
ﬁlﬂﬁ%dlqsﬂ _QTGHFF%FOCI\YIC-IW
ﬁwﬁsof‘ﬁﬁ&r@"ogﬂdqcoml%l#
GR1 a9 P T3 B gil J1d PIoIE?

A) 555km B) 500km C) 575km D) 550km

OI




MISSION SSC -2024 I3~

Two person A & B walk from P to Q, which are at a
distance of 15km at 6kmph and 9kmph respectively.
B reaches Q and returns immediately and meets A at
R. find the distance from P to R?

el Afdd AR B, PY Q d% Idd &, Sl HHTT: 6
ﬁ‘ﬁ’fuﬁr‘a%sﬁwf‘ﬁﬁqﬁra%c"rﬂﬁr@rls?‘ﬁﬁ l
PRI IR B, Q IR Ugddl & 3R gid dledl 8
IRAYRWR AT PR BT R 10 FITE?
A) 8km B) 12km C) 9km D) 10km




